11 =ERBRED4S) ( BC62ETDP-BC62ETLDP-BC63ECTDP-BC63ETDP)

fF5 T 0 on A 15 B2k & &
1 V811-000-015-0 2% A-15 1
2 0347-520-200-0B  P7—YJCOMP 1
3 0347-520-011-0 $17—(21X30X5) 1
4 0325-501-006-0 Y24(10) 1
5  V401-160-010-0 S 10 1
6 V201-261-001-6 T4 M M10X16 1

_41_.



12.37IYIFEREDT) ( BC62ETDP-BC63ECTDP-BC63ETDP)

7= Hegmd—F @A B %k 5 &
1 0344-530-200-0 A7YR V7' H130R 1
2 V211-360-802-0 IN AR LMSP) M8X20 4
3 0347-530-200-2B a79nUN VCOMP 1
4 3640-585-001-0A 2 zn-) 1
5  V201-261-002-0 Y 7 AN M10X20 1
6 V401-160-010-0 S.W 10 1
7 0412-205-009-0 90° Tl 2
8  0551-530-013-0 F—2(1600) 2
9  0325-503-004-1 E—ka4 4

_42_.



12379V FEREN2) (

BC62ETDP-BC63ECTDP-BC63ETDP)

12
13
e
N==2)) 11
— 2
N
Y
ks BRI-F BB T =k g

1 0347-530-300-2C Y4’ (155-300)ASSY 1
2 0315-303-240-1B UNYE 47" COMP 1
3 0347-530-301-1A Ay (294) 1
4 0315-303-222-0 Ay Hn - 1
5  0315-303-223-1A AR 1
6  0315-303-224-0 S AM~-I35 1
7 0315-303-225-0 Un'v%u35 1
8 V721-103-105-8 oy G58 1
9  V720-102-402-0 ouy P20 1
10 0315-303-226-0 Un'v%63 2
11 0433-025-013-0 Yy UESWEISEI 1
12 V411-260-016-0 INEYH R 16 1
13 V330-460-016-0 FobGEYR) M16X1.5 17T
14 0412-205-009-0 90 IILHK 2
15  0344-53-014-0A Yz BTN ) 1
16 0344-530-013-0A VT AYRE Y 1
17 V411-260-020-0 YN R 20 4
18  V500-165-003-0 Uy 5X30 4

>HBIE. FE2~FB13%5E8D

_43_.



12.27VYVYOFBEHREDI) ( BC62ETLDP)

75 BHmI-—F BB R I 5 =
1 0344-530-200-0 17V V7' H130R 1
2 V211-360-802-0 IN 4R WMSP) M8X20 4
3 0347-531-200-2B 1791k W(LD)COMP 1
4 3640-585-001-0A —Xy({ze-) 1
5 V201-261-002-0 InaR Wk M10X20 1
6 V401-160-010-0 SW 10 1
7 0412-205-009-0 90 LI 2
8  0551-530-013-0 f—2(1600) 2
9  3536-142-006-1 D4Y-tAnty 1
10 0325-503-004-1 DE-raq 2

_44_.



12.27VYVYOFBEHR(EDA) ( BC62ETLDP)

HqE BH&d—F i am A R B g =
1 0347-530-300-2C Y14 (155-300)ASSY
2 0315-303-240-1B VU447 COMP

3 0347-530-301-1A Avh'(294)

4

5

0315-303-222-0 ok hn -
0315-303-223-1A E'AbY

—_ - -

6 0315-303-224-0 4 Ah-135 1

7  0315-303-225-0 Unv%v35 1

8 V721-103-105-8 oy G58 1

9  V720-102-402-0 oyuy P20 1

10 0315-303-226-0 Un'v$v63 2

11 0433-025-013-0 SV VNS WESSE S/ 1

12 V411-260-016-0 RS WIES 16 1

13 V330-460-016-0 FybGRYA) M16X1.5 17T
14 0412-205-009-0 90° T 2

15  0315-303-002-0 ayryTvEY 1

16 V201-461-003-0 I GR b M10X30 19T
17 V304-260-010-0 Ry RS W1 2%1 M10 1

18  0344-530-013-0A YA AYNE Y 1

19 V411-260-020-0 RS WIES 20 2
20 V500-165-003-0 ey 5X30 2

SEHEIE. FE2~FE13%ET

_45_.



12. 27 VYVOFBEHR(EDS) ( BC62ETLDP)

#g= Had—F T E2E D E %K g &
1 0375-535-013-0 Y7h71% 1
2 V301-260-005-0 Tk 291 M5 2
3 0375-535-014-0 F1-77(7X100) 1
4 3536-142-006-1 D4Y-binty 1
5  0325-503-004-1 e-rq 2
6 0343-531-210-1A UDLA'—COMP 1
7 V200-260-601-6 R Ib M6X16 5
8 3789-151-006-0 w07 4
9  V361-260-006-0 VBT ES W] 291 M6 4
10 3100-213-002-0B Linv-=%" 1
11 0375-535-250-0 Lin—(1)COMP 1
12 V300-200-006-0 Tk M6 1

_46_.



	041 [更新済み]
	042 [更新済み]
	043 [更新済み]
	044 [更新済み]
	045 [更新済み]
	046 [更新済み]

